HAHEREFRSIRA OER

BTl

A0, #HEEE

SHSEIA31HIBTE
IH H 4 m =R 108 136 244 115| [{£H 0 0 0 0
i E:] £ T h=1R 654 708 1,362 547 |TFJIE 34 37 bl 51
LtEH—TE 164 187 351 225 T=H 1072 1193 2,265 944 |FIITF 100 104 204 109
LtEH_TE 127 161 288 172 L% 50 63 113 60| | T2 0 0 0 0
tEH=TH 135 149 284 159 % 187 220 407 202| |M/E 2 6 8 4
= 2R AT 138 184 322 182 KEF 42 53 95 61 /8O 1 0 1 1
T EERET 150 199 349 206 pEALLE 3951 4001 795 h/E 0 0 0 0
HEEE 200 230 430 255] [ 7N &F 27830] ___ _31487] __ 59.317] 29372 |Ri#E 0 0 0 0
e 67 74 141 79 N 0 0 0 0
El&3:01 38 51 89 42 H Be & & I 0 0 0 0
ESl 46 63 109 64 B % E:] = &t T EUN 154 0 0 0 0
5 f2fT 49 67 116 62 BEMHAT BES 64 57 121 72| |*E# 53 45 98 79
12 ERET 28 32 60 33 e /DRI 34 43 77 35| [ER 13 12 25 16
ZRHT 58 67 125 68 BEA=YX 7 7 14 8| [&E 0 0 0 0
it EET 54 52 106 i BEMHTIE/ X 57 66 123 68| |mL 24 36 60 49
FrET 36 43 79 51 BEHAERER 46 56 102 51 Il 13 10 23 17
= 348 428 776 477 BEMFT T 126 143 269 131 R 8 7 15 11
i) 309 378 687 415 BEMRAE/I 19 19 38 25| (#0H 4 4 8
RILHET 221 260 481 294 BEM AT B IR 73 94 167 97 N & 1,004 1227 2.321 1242
=if—TH 293 335 628 386 BEMAER 130 119 249 130
EH=-TH 358 395 753 437 [EEHHE 61 89 150 76 H & =
S#=TH 382 429 811 464 BEMF R H 112 115 227 118 B 4 El & & R
E1] 661 840 1,501 845 BEm AT AR 217 273 490 261 EN S 107 130 237 151
ByiE 26 32 58 49 BEmA RS 206 242 448 238] |AEEI=# 25 17 42 28
JTHT 11 14 25 11 SERmFTRREE) I 80 92 172 91 AEE—AHR 4 2 6 4
BEER 592 706 1,298 695| [EEREAT/NZR 58 51 109 69| |REEXE 182 203 385 189
ST 397 475 872 50| [/ &t 1,290 1,466 2,156 1,470 |(A=ETLUIE 30 35 65 40
TE 213 255 468 284 AE BT 45 55 100 59
X P 436 487 923 507 I b 1 g% ml | A= BT LR 17 23 40 27
tolWW—TH 207 165 372 210 BT & E:] = E HEH AERAE 227 241 468 263
LOW=TH 424 549 973 528 rp 20 R BT I AR 95 95 190 100| |AEBLEH 51 49 100 54
1= 480 538 1,018 491 FDERETFE S 15 16 31 23| |[REEEE 17 29 46 24
A=) 926 973 1,899 858 o i pR T B A 35 39 74 45| |REETFEII 38 54 92 60
TH& 940 1066 2,006 974 10 BR BT A A 23 22 45 28| | AEETHII 8 5 13 9
FUGRET 1541 1644 3,185 1424 D ERET KA1 11 10 21 15| |AEEEE 33 30 63 34
i Ak BT 1275 1428 2,703 1242 thd ERET/NVEE 58 54 112 85| |(AETE/NAFE 15 18 33 19
310 826 959 1,785 907 o0 BRETHEEF )11 6 6 12 1| | AEETEH 54 48 102 67
BHAsE 500 499 999 533 o3 BRETSE 12 19 31 21 AEETERE 7 5 12 8
HTIED 816 956 1,772 900 i ERET K E 6 11 17 14| | AEEIKHE 0 2 2 2
[:3E30a) 502 582 1,084 515 o 320 BRI SEAF) 1] 381 417 798 444 | KEETARE 29 33 62 30
HDH 244 272 516 249 D ERET )1 16 15 31 20| [AREETERIII 0 0 0 0
E 0] 195 272 467 255 FIBRTaR 36 36 72 43| |[REETKER 11 11 22 10
®LU—TH 133 171 304 179 RTINS 82 79 161 93 =R 64 63 127 68
HIL=-TH 414 443 857 421 o 10 ERET K I 58 67 125 61| [X=EEIT 9 10 19 12
ZE 366 412 778 398 D ERET 4R E 19 19 38 24| | AEHETEEHII 8 12 20 14
XE—TH 367 396 763 427 FiERET R4 0 0 0 o] |AEETARK 8 10 18 12
XEZTH 360 437 797 434 o 30 R AT I 27 39 66 46| |AEH)IE 17 22 39 29
#HF¥E—TH 390 431 821 432 thiD ERET /N TR 10 14 24 19| |AEETLXE 27 67 94 77
#FE_TH 283 337 620 339 i ERET ISR 177 189 366 219| |AEEEFA 3 4 7 5
FEHR 737 897 1,634 706 I ERET & & 77 73 150 89| |AEHTERII 47 36 83 55
B¥—TH 312 370 682 338 _c:_ﬂmﬁ,ﬁm 0 0 0 0| |AEREER 4 2 6 5
BE_TH 401 455 856 412 [C O 1144 1,220 2,364 1,396] |AEHTET 3 1 4 3
BE=TH 364 414 778 359 A=ESL 27 32 59 36
FHEME—TH 315 346 661 359 IH X & & | R = BT/ T 16 16 32 22
EEWNR_TH 377 452 829 408 BT £ E:] = B HEH BN EEN 0 0 0 0
PrEET 2086 2366 4,452 2240 &A1 791 929 1,720 832 [ &f 1,133 1,265 23908 1,416
#HES 178 207 385 216 A 0 0 0 0
=& AT 393 433 826 448 £ 0 0 0 0 = or
J:%g 752 771 1,523 624 S 3 2 5 4 % X &t HH
e 873 965 1,838 711 K=F 16 10 26 21 x =
LRGE 1542 1615 3,157 1286 |&JI 23 18 41 29 L el || Sl 62'156 AR
e 266 300 566 284 EAT 9 7 16 12] KEREABRZENLEI-KY. THR2AETRRNoDEREADIRA L BRI

DLWTIE BRAENEAZEH L HE

EBEDTVWET,



